®RH

feBER R

BRSHK

NELELE

0T AR

RAHLF

o PR

RAAJESEM
TR KA R
BIREARER
RAE X RGAR IR
BEREXRGEBER
BHESRANBRERY
MTTFd / MTBF

sk

T AB BRI (typ.) RIEERX
T A EBRIRFE (typ.) BIRENX
&/ B E AR

i R KA
BRI A R R
BREE(s =RKX)
BRELREER

TR

BRERETR( =FHL%)
BRELBREE TR

PASES

P AEE

B S5
ERERFERNHZREEHE
RAEERE

A VR B K

RAARFEO A

THENEFRE

IEC 68-2-6 #&3h (Amax = 0.75mm, f = 5 ... 2000 Hz)
IEC 68-2-27 M

e

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230... 1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 67000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0. 15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

R}

ERAR (B ARA

~

o

% of meas. range
bit

kHz
kHz

Ls

LS
ppm/K
years
VDC
mA

mA
kOhm
nF

Nem

om
movements
N

N

°c

g

g

aBuVv/m)
aBuVvim)
/4%

Vim

/4%

KV

Vemk
A/m
GOhm
/3%

H35:021-5419 1392 4FT1:173 1638 6953

MH-C

0... 360
+0.3

o1

72

0.1

)

7.66

(800)

4600

700

185/ 185
710.8 ... 35
(19)

74

70

700

yes

Cable 3pole, s
0.25 (AWG24)
no

360 (continuous)
P54 / IP67
05/3

6000

360 Mio.

100

50

-40 ... +85

20

50

max. 30
max. 37
+4 /48

MH-C2

0... 360

0.1

0.1

14

0.1

)

0.5

(800)

2500

700

147/ 147
77...35

20)

75

70

700

yes

Cable 3pole, s
0.25 (AWG24)
no

360 (continuous)
P54 / IP67
05/3

6000

360 Mio.

100

50

-40 ... +85

20

50

max. 30
max. 37
+4 /48

3% :www . tifu-auto.com

.|

=

=]

Vert-X 22 - 24V /0.1 - 10V

B A

RACES

w1 R
FIRG R m BE RS

FREKEN

ARRI, TERNARTLEH
FEMANESEZRKNFD
BRENEES TR N A
(RE ER, L,

REZF.)

ERERSAETEAS D HRNEHE
= MH-C

LME +0.3%

7 PR 12bit

tEMH-C2EEE

4% S MH-C2

HME+0.1%

2 PEE14bit

1% 5| =,

FE#E 77 18 1 48 B2 W% T/ AT 4R AR (T i)

CONIELEC

A company of the Siedle-Group

tik45 :info@imcortech.cn



R}

RRELHEAR (L FRAF

Vert-X 22 - 24V / 0.1 - 10V
Ordering code
s
Eﬁ%@%gwﬁ;’:; * Switch outputs
O] Al .
T4 BB ECW 3 Please define number
T, EB#ECCWT k4 (max. 127), position and width
TREXESMLAIES
. of the pulses.
ERBECW % 125 % 8 T 1A P
IE [ # E CCW 188 FF < 4 AT iEB
EM B ECW H28 7 X i ATk C
IE [6) 86 B CCWiii 28 FF < 81 i * AT iE D
HESE 57 @ AR E AEE
ERMAER T [ AR E AEF
R R BEH: 75 [ FT iR T AEG B EE
H2IH SR HE B 75 [ B iR GE A iE H AFRfE B 2 B 48 3pole
Programmable with Vert-X EasyAdapt®] 1P 67 3% [ 72 B8 46 pole
QT I 45 Bk BB 4E
WEES
0,1VDC ... 10VDCHR 1 B4 K E024R#1.0m
06T 3%3.0m
10™ #5.0m
e E 99T &
24VDCHR #1 P
Vert-X 2 2 0 1 7 3 6 1 1 1 0 2
B3GR S A 360°
xxA[#%£03 to 35; Declaration in 10° steps
ITIEK RS A
ERRRE
7MH-C
8MH-C2
AL MR A
22014F HE IR R EM10x0,75 ; 6 mmEiD-shape ; IP54
22024F A IR Y R EM10x0,75 ; 3,175 mmis {E #; IP54
2211¥5 HE Al BR R ¥¥size 9 ; 6 mm#liD-shape ; IP54
22128 AR R %¥size 9; 3,175 mmi f#E #; IP54
22314F M IR K R EM10x0,75 ; 6 mmEiD-shape ; IP67
2232FF AR Y R EM10x0,75 ; 3,175 mmis {E #; IP67
2241%5 HE R BR R ¥Esize 9 ; 6 mm#liD-shape ; IP67
22428R A IR R size 9; 3,175 mmiE i #; IP67
2299TE R RN T R
A 1% 3
MH-C MH-C2 AIE(REE P EXR)
17 %l 5% it X X
T HI5A 5 X X
1T Hl% 4 X X
HOEB KRR X x
FFRIhEE TTL (max. 2) X X
BRI - x
HBHREBESFE A SEE 30°to 360° (BWI) X X
B ATRE (M) - X
IR R ML R AR E (B L&D X
HEF F ECW/CCW AR E / Al w2 (A& L5 H) - X
REIRQWIRE AIRERE @AKLEREH) - X

H35:021-5419 1392 4FT1:173 1638 6953

CONIELEC

A company of the Siedle-Group

W%k - wwwe. tifu-auto.com  iFf:info@imcortech.cn



A}

RERBIEHEA (L) FRAF

Vert-X 2201 / Vert-X 2231
4 (incl.)
1x#8&M10x0.75/ SW13
- (7f) - xR R A
47, R -
53 - :.-: :‘_) i
[~ B b Wzl
0
K cE O o
c._* _..[".I il y o __Bb l]f;.‘.
= = L
L ] = ;
¥
J
i [}
1 R -
= . Py [
[,
Vert-X 2202 / Vert-X 2232
B4 (incl.)
1x88&#M10x0.75/ SW13
T o s IxIG P ERE
] o
oo L
N
L -
i
0, 8

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



A}

RRELHER (L) FRAF

[E:=:

A7 an .

Ll
L

Vert-X 2211 / Vert-X 2241

B #(incl.)
1XEE X F
22X AR L&
1222 M3x8
P i
LL, 2
0 E '.:._

A By mo

Vert-X 2212 / Vert-X 2242

B #(incl.)
1XEEXF
22X G R L&
122 M3x8

CONIELEC

H35:021-5419 1392 4FT1:173 1638 6953

W%k - www. tifu-auto.com  Hif4f:info@imcortech.cn



RRELHEAR (L FRAF

Vert-X 2211 / Vert-X 2212
Vert-X 2241 / Vert-X 2242

[T
20 [ E X F

CONIELEC

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5



